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№ 1046(б)

100% – стоимость   деталей 
Неизвестна. 
1)  1498 : 107 = 14 р. сост. 1%

2)  14 · 100 = 1400 р. стоимость деталей
3)  1498 – 1400 = 98 р. стоимость работы

Ответ: 1400 р. и 98 р.



№ 1047(а)

2

3

Ответ:







– 2 · (54 – 129) = 

1)  + 54 – 129 = – 75 

2) – 2 · (– 75) = 150 

1501
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1)  210 : 2 = 105   1 часть 

210 

2)  210 + 105 = 315  число

3151



1,54 – 0,5 · 1,3 = 

1) 0,5 · 1,3 = 65 , 0 

2) 1,54 – 0,65 = 0,89 

0,89 1



4,2 м 4,2 м + 4,2 м + 1,4 м 

9,8 1 (от 8,0 до 12,2) 
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3х – 2|у – 1|  при  х = – 1,  у = – 4  

3 · (– 1) – 2 · |– 4 – 1| =  – 3 – 2 · |– 5| =  

= – 3 – 2 · 5 =  – 3 – 10 =  – 13  

– 13  1
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Сумма противоположных 
граней равна 7!
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